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Problem 7-14

Light of continuously variable wavelength illuminates normally a thin oil (index of 1.30) film on a glass surface. Extinction of the reflected light is observed to occur at wavelengths of 525 and 675 nm in the visible spectrum. Determine the thickness of the oil film and the orders of the interference. 
Ans : 

[image: image1.png]



n=1.30


[image: image2.wmf]9

1

52510

m

l

-

=´

   
[image: image3.wmf]9

2

67510

m

l

-

=´



[image: image4.wmf]'

nCC

nl

´==



[image: image5.wmf]''

C

C

nn

nl

nl

===



 EMBED Equation.DSMT4  [image: image6.wmf]'

n

l

l

Þ=


由波程差：
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由上式移項可得：
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答：在 第3和第4個order  d = 9.087
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